gl ’5“

z) -
% Cg_?ﬁ)_xS_(»Zx)r
(3- w2 Y (320"

KL (5-_}3_) K”—(g-fc) (3*%)

G- x)"

K (33 +2x)
G)"

—
—

\

=N

(3,+2)

(v,3) 3

|or2) -3 BB (B o (g4)

gl=- 0+ 9 + ¢ g

ey,

LN ek 7T e T N
D -
ne (13\)
o 7

S VvV ove L—-va, 3j E}JV")
D e (hh), B q;l,@>






Tl
Wl (x—§
, rrﬂ-ti)"—-'ﬁ
’tk'?(-: Q‘(Ka\:o ‘p
9.4 L

L] 1\
'(1\’ (30)79.!;“’ v %
I— ool b\-f'l‘v\r[s[{.
‘. W
-E: G(Q)C‘D;L, & x/’
L— [ i ]
. Moy Ll’c-'

[A

Ll cg(x’r

l - =X
«C“(Hz?x Fil~ %
£GA=2 AR




L v v Lk w -l 4
P X LL‘_L'Q L 'BKL

|

¢ ]u,]__ C‘.ﬁﬂ‘& w (KX 2}

fQ‘k(_’,D Wa (‘fﬂ“‘élxﬁ)
FR)O he (Kar (yé)

=')f¢- ban (g {_OL\ Ly }(0



Uboeg n

J‘% T Lo La) » U, )&3— c:.)-tlff.\, o (h We{e.ﬂvwi) SLINY
P/L‘L'l\? prr e[_a’("l Fi{e’

c) € bk € &)

le Pl Koxo 58 j"‘{“:]““" 2

A >

’_1' poubiley , o (,tJ\Q‘V\Ja‘1 @\ e (e
- -\ — e (g vy
&) LR -5 434 a5
Y (rmb.bw/ L Whgh B el IO“‘?JW”"E Lap e M b
A Mi\= Q- 45€3L =25
- S 5= 25— 15728 +36:8 = 25(40 — 457)+ 480 = -IiT41&0= 5T
* Bl)= bxt -5 W, T3L= G (x2—Sx +4,>: G (x~3)(x-2_)

Foo v Pelas) )= 28 - (54 €dL=((+IL= 28
() 213 139 €363 = Br(2-St )= EE

7






I 3 o
3 A= (3 e G4 iy
_ x-3\-- z,ﬁﬁ , X¢e E”ﬂo)
%6“'3)1 4 ) XE Lo, Q’]

—C’ )#M«; "’“‘Lf)k“— l?h‘ﬁl\w')\l vl dadernole Y )JWDLH L Wv‘JJ- j;n/r-.@ﬂ'o,'

L

——
=

’ [La..—f\,e_ Vlw-e-’LLu'wh\ ) — H'( {-e
G Ll [of

0w 0 Ve ik Lo [
26e-3) ¢ e - 3)C . 1) = ¢ (x-3) (2-6-1)- e (e3)lss) | xelle)
| - ’
Q&) %2&#3)6){{_ &__92_&?‘____ Qf(x*'i)&* K’ﬁ) = e_,(ﬂfl)(x‘/f) ) XK€ qu)
SOLES
) = O
8\‘ . W'}mddhm l-mJ@l‘ -2 ’O
)

“—ﬁ‘-‘-‘}'-‘.xt‘\\-q ‘—uv\"?::. —7 WX ('&(3 ¢,



Cor2 _Q_e.e
X ~ 4 G (o, )
. Lo ©0
o pebane b) = £6)= 274w dx B2 43 7o
P(t(ﬂ:- —~50 00 {3 _ Tt = 3om0 _ 3(;(3_»1&'9% 2 (x - Vioms )(w—m)
X" x = et 7 -
2
>
\j[ﬁ,‘.lffﬁ:@) VA o0 (\}[Goa(#’:) /
£ — O +
£ N o J
VMoo I _d_:)'t
L V{00,




